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Factor using the D.O.T.S Method:
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difference of two perfect squares, her factors could
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Write the product of the following:

BOX meThod

17. (y=5)(y+5)
(j 3

T e

:18. (x+4)(x+3)
2wt s F b2
} =4 T% ¢ lg

—

D&+ (3 )(xr3)

a
X +lx +9

20. (2x-3)(x+1)

&mﬂ;x—sx -

[ax*-x-3 | 9

L/— —



Factor the following trinomials.
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29. What are the factors of the expression ° +x~ 202 30. What is a common factor of x* -Qvandx’—-Sx-f-lﬁ.‘i - ‘
26 (x3Y(y-3) ) 1
1) (x+5)and (x+4) I 20| D x+3 (‘(\
@x+5)and(x—4) > 0 @x_g XZ"SX Tl [
Casdx )y g Lo
3 G-HadGe) 3) 5-2 a3 o
4) (x-5)and (x-4) 2 P e
Factor the following trinomials that have a leading coefficient greater than 1.
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